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Part A

Answer all guestions in a sentence each.
Eoch guesiion carries 1 mark.

An entrepreneur should be a person who can bear AN —
Who 15 an innovative entrepreneur ?

Btate the [irst phase of ED programme,

Expand EDIL

Define worling eapital.

What iz =eed capital ?

DIC stands for ———

IDZ stands for

What is margin money loan ?
Corporate tax 12 imposed by
(1 = 1L =10
Part B
Answer vy eight of the following in two or three sentences each.
Each guestion corries 2 marks.
Diefine 531 unit.
Write a note on Technological entreprencurs.
Who are instigated entreprencurs 7
Fxplain the term social mobility.
State any four chjectives of EDP.
What iz o sick unit ?
What iz meant by Technology Fund Schems ?
What is a Tax Holiday ?
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What is Green channel scheme 7
Write a brief note on Technopark.
State any two characteristies of a project.
What is zocial audit ?
(5% 2= 18)
Part C

Answer any six of the following in a Short Paregraph of not more thar 50 words each.
Euch question carrizs 4 marks.

State the rolc of KRBz in financing entrepreneur.
Define and explain the meaning of CSR.
THatinguish between a capitalist and an entreprencur.
Explain the [eatures of Miere Finunee Programme.
What are the steps to be followed in selecting location of business.
Write a note on DIC.
Write a note on PMEY.
Explain the importance of incentives.
Briefly explain the basic steps in project appraisal.
(6= 4 =24
Part D
Answer any two in an Essay of about 300 waords each.
Eeach guestion carries 15 marks,
Ezplain in detail about the different types of entreprencar.
Write an essay on weaknesses of small seale sectar in Kerala,
Briefly cxplain the functions of KVIB.
‘Write a briet note on (i} IDBI ; (il) IFCL
(2= 1a = 30



